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Reasons Why Fundamental Accounting Concept1 Test Fails 

BS2 

Assets = Liabilities and Equity 

What this rule tests 

This rule tests the relationship between three very common line items of a financial report: 

 Assets 

 Liabilities and Equity 

If a reporting entity has no equity attributable to noncontrolling interest, then equity attributable to 

parent and equity are the same as there is no equity in noncontrolling interest. 

Of all filers, approximately 99.5% pass this test.  Of the remaining .5%, the following are the reasons this 

test is failed: 

 Rounding error (31% of failures) 

 Inconsistent approaches to expressing statement of net assets (30% of failures) 

 Undetermined reasons 

 

Common reasons why test fails 

Rounding error 

One of the most common reasons for assets not equaling liabilities and equity is a rounding error in the 

balance sheet.  For example, consider the balance sheet of this filing: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=814586&accession_number=0001072613-13-

000192&xbrl_type=v  

                                                           
1
 For more information on the fundamental accounting concepts and the relations between these concepts please 

see http://fundamentalaccountingconcepts.wikispaces.com  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=814586&accession_number=0001072613-13-000192&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=814586&accession_number=0001072613-13-000192&xbrl_type=v
http://fundamentalaccountingconcepts.wikispaces.com/
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As can be seen, there is a $2 rounding error.  While this does not seem like a big problem, if you 

consider that for each rounding error a human needs to get involved to determine if the error is 

significant and that if a rounding error is appropriate on the balance sheet, are rounding errors 

appropriate in the disclosures and other places in the financial statement? 

Also, if it is the case that 99.5% of all filers can create balance sheets which do not have rounding errors; 

why is it the case that the other .5% cannot also do so?  These sorts of rounding errors should be dealt 

with in the creation of the financial statement; there is never a good reason for a rounding error. This is 

generally either sloppiness on the part of the external financial reporting manager or laziness. 
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Inconsistent approaches to expressing statement of net assets 

A handful of SEC filers create a statement of net assets but call it a balance sheet.  For example, consider 

the following two examples: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=17313&accession_number=0001140361-13-

023510&xbrl_type=v#  

 

A concept for net assets exists in the US GAAP XBRL Taxonomy, but the filer creates a line item labeled 

“Total net assets”, but uses the concept used to express liabilities and equity: 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=17313&accession_number=0001140361-13-023510&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=17313&accession_number=0001140361-13-023510&xbrl_type=v
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Then in this case the filer uses the concept which is used to express equity generally (or equity 

attributable to parent) to express what they have labeled “Total liabilities and net assets”: 

 

A second example shows a different approach: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=814676&accession_number=0000814676-13-

000011&xbrl_type=v#  

 

In this case the line item labeled “Total assets” uses the concept net assets: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=814676&accession_number=0000814676-13-000011&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=814676&accession_number=0000814676-13-000011&xbrl_type=v
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Basically, there seems to be an incredible amount of inconsistency in expressing certain types of 

statements which are labeled as balance sheets.  This includes economic entities which report using 

liquidity based reporting. 


